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Determine the value of each square root and round to the 10™ place.
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What is the PERIMETER? What is an AREA?

The area of a square mat is 15.35 m?.

a) Determine the perimeter of the mat.

b) The owner decides to make this area larger by adding on 20.20 m? of material to the
mat.
What is the new side length of the mat?

Describe how your find the TOTAL SURFACE AREA of COMPOSITE OBJECTS.



3-D Shapes REVIEW NOTES

Rectangular Prism

A. Rectangular Prism on Cylinder (4 marks) Cylinder
10m
3m
5m
~_

4 m diameter

TSA: TSA:
B. Cube on Triangular Prism (4 marks) Cube Triangular Prism
6m
>m 12m
8m
10m
TSA: TSA:




#1.) Cylinder on Rectangular Prism

5cm
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wo g

8cm
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SET IT UP ON YOUR OWN

#2.) 4m cube on 8m cube

#3.) 5cm cube on 7cm cube




#4.) Cylinder next to Rectangular Prism

6cm
5cm
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wo/

10 cm

#5.) 4m Cube on Triangular Prism

7m

9m



#6.)  The local curling rink is shown in the diagram at the right. It is to be painted.
a) Determine the surface area of the structure.

b) Both roofs, floors, the one window, and door are not to be painted. The door is 1 m by 2 m and the
window is 4 m by 2 m. Determine the surface area to be painted.

¢) If the paint cost $2.25 per m* how much will the pain cost?

45m
5m
15m O
<—>"10m
6m

65 m

a) Surface Area:

b) Painted Surface Area:

c) Total cost of paint:
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2. Determine the value of each square root and round to the 10™ place.
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What is the PERIMETER? s

What is an AREA?
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The area of a square mat is 15.35 m?.

2
a) Determine the perimeter of the mat. F\ réeo. = [5.35m

Ineez side lenﬂichf 15.235 Root
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b) The owner decides to make this area larger by adding on 20.20 m? of material to the
mat. 15.25m*+ Z0.20m?
What is the new side length of the mat? -

focee 35552596

Describe how your find the TOTAL SURFACE AREA of COMPOSITE OBJECTS. ‘
) Find each oxto 3ep a«qﬁ\é ond then add +t ‘(‘03 ether .,
a) Lost Facwn (Toke  fo tqngo)
Subtract | I
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3-D Shapes REVIEW NOTES

Rectangular Prism on Cylinder (4 marks)
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#6.)  The local curling rink is shown in the diagram at the right. It is to be painted.
a) Determine the surface area of the structure.

b} Both roofs, floors, the one window, and door are not to be painted. The door is 1 m by 2 m and the
window is 4 m by 2 m. Determine the surface area to be painted.

- ¢) If the paint cost $2.25 per m* how much will the pain cost?
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a) Surface Area: q % 3 O mz
b) Painted Surface Area: 3 g 50 m?

c) Total cost of paint: $ 753 ’) , D0
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